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TOURISM ADMINISTRAT ION AND MANAGEMENT
PAPER — Il

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
questions are compulsory.

1. In connection with “managing indicatofsr tourism development optimization”. Match
items of List — | with items of List Il and select the correct answer :

List—1 List — Il

a Economic I Effects on Nature
b. Environmental ii. Backwarlihkage to other sectors
C Social iii. Commoditization of built and natural heritage {
d.  Cultural iv.  Tourism related crime. .
Codes :

a b c d
Q) i v i
(2) iv i [ i
3) i [ v il
@) i i v [

2. Assertion (A) : Tourism and Hospitality sectors are facing shortage of skilled
manpower in India.

Reason (R) : The Deen Dayal Upadhayay Kaush&ndras have been exclusively
identified as the skill development cesgrto meet the issue of shortage
of skilled manpower in Touns and Hospitality industry.

In the context of above statements, which amongst the following is correct ?

(1) Both (A) and (R) are true and)(R the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(3) (A)istrue but (R) is false.

(4) (A)is false but (R) is true.

3.  ChhatrapatBhivaji TerminusRailway Station is in
(1) Goa (2) Mumbai
(3) Nagpur (4) Aurangabad

4. These are restored Victorian coaches whiavel through South Africa, Zimbabwe,
Zambia and Tanzania making it the ultimgberney in complete luxury, comfort and
security. Which train is being referred in this statement ?

(1) The Blue Train (2) Rovos Rail
(3) TheOrientExpress 4) TGV

5. The selling concept exists in the hospitalibdustry. A major contributing factor is
overcapacity. Which one among the followingN®T a reason as to why major sectors
such as hotels, airlines and ressais continuously face overcapacity ?

(1) A false belief that economies of scale will occur as size increases.

(2) Pride in being the biggest and having the most capacity.

(3) Robust forecasting and planning by owneonsultants and financial organizations.
(4) A myth that the travel industrades almost an unlimited future demand.
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6. The conceptual framework for tourismveéoped by Wall and Mathieson (2006) includes
which of the three basic elements ?

(1) Tourist, Geographical regions, Industrial
(2) Tourist, Destination, Industrial

(3) DestinationPynamic,Tourist

(4) Dynamic, Destination, Consequential

7. International Chef’s Day is celebrated every year on :
(1) 20 October (2) 20 November
(3) 20 June (4) 20 September

8. Match the items in List — | with items in List — Il and select the correct answer using the
codes given below :

List — | List —1I f [
(Name of Company) (Year of Establishment)
a Make My Trip I. 2006
b. Yatra.com i. 1920 i -
c. AkbarTravels ii. 2000 g " ' {
d. JeenaTours and Travels iv. 1978f .
Codes :
a b c d
@ i v
(2) iii [ v
(3) i i [ iv
4) iv i i [

9. Assertion (A) : Invention and applicatioof Apps technology in transforming car rental
business has led to the custonuhght in most Indian cities.
Reasoning (R) : Traditional car rental companiesntet be replaced with Apps based
car rental operators due to tlmeason of dependability and trust-
worthyness of customers/users.

From the above which one of the following is correct ?

(1) Both (A) and (R) are true and)(R the correct explanation of (A).
(2) Both (A) and (R) are true but (R)not the correctelanation of (A).
(3) (A)istrue but (R) is false.

(4) (A)isfalse but (R) is true.

10. All of the following statements are true except :

(1) one method of identifying how muchstamers are willing to pay involves using a
technique called &de-off analysis.

(2) the information from the trade-off analyprovides managers with an idea of which
features add more value than they cost.

(3) value-based pricing uses the buyer'scpption of value as the key to pricing.

(4) going-rate pricing is the establisamt of price based largely on those of
competition, with much attention paid to costs or demand.
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6. dicT U ARG (2006) FRT T2 & [T faehiad GehetmTcass Wy § Fifarad § § &9 d a9
oA T IMHA & ?
(1) Tdesh, Y-uTitersh &, i (2) e, T, SEITE

(3) Tide, TdRlet, Teh (4)  TifereTe, Tiee, areoTHt
7. SO U og Ufded e qEET S § ?

(1) 203X (2) 207E=R

(38) 20sH (4) 20TadsR

8. wEh — | & e el W g — || W wEl % W gAferd it S e fw e e v svE
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T — | = — | /
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@) i i i v
(4) iv i Qi
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11. Read the following statements and choose the correct answer from the codes given below :
Assertion (A) : Geo-tourism is about rkang a place better by eauraging tourists to

visit and spend money with preservation in mind.

Reason (R) : Geo-tourism focuses on unique cultared heritage o location while
attempting to help visitors enrich these qualities.

Codes:

(1) (A)istrue but (R) is false.

(2) (A)is false but (R) is true.

(3) Both (A) and (R) are true but (B)not the correctglanation of (A).

(4) Both (A) and (R) are true and)(R the correct explanation of (A).

12. To institutionalize a mechanism to suppefforts intended to preserve, document,
promote and disseminate Indian cuisine, Indiahnary Institute has been established by
Ministry of Tourism, Ge@ernment of India at
(1) Gurgaor(Gurugram) (2) Bhopal
(3) Tirupati (4) Jaipur

13. Match the currency code in List — | with tharrency in List — lland select the correct
answer using the codes given below :

List—1I List — Il o »,

(Currency Code) (Currency) / ]

a. GBP I Ngultrum f |

b. CHF ii. SterlingPound | '

c. CAD iii. SwissFranc J

d. BTN iv. Canadiamollar { .

Codes :

a b o d

@) i [ i v

2 i i i v

3 i i v

4 iv i il [

14. A train popularly known as ‘bkpital on Wheels’ and provideealthcare facilities is
known as
(1) MedilineExpress (2) Healthline Express
(3) Lifeline Express (4) Ayush Express

15. Read the following statements and choose the correct answer from the codes given below :
Assertion (A) : Tourism industry is located irdestinations and its impacts are

experienced in them.

Reason (R) : Destinations are a focus for attemtisince they stimulate and motivate
visits and are the locations in which the major part of the tourist
products is produced.

Codes:

(1) (A)is true but (R) is false.

(2) (A)isfalse but (R) is true.

(3) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(4) Both (A) and (R) are true and)(R the correct explanation of (A).
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16. The W.T.O. Recife Charter in 1996 was first document of its kind drafted on :
(1) Mature Tourism

(3) Eco Tourism

Wellness Tourism
Religious Tourism

17. is industry term for a systematic examination of guests’ folios to ensure the
accuracy of information. It typically incled rate verificationcredit monitoring and

confirmation of departure date@guest room assignment in hotel
Tallying
Guest Trial Balance

(1) Floorlimit
(3) Bucket check

18. Jump seat in an aircraft is reserved for

(1) Last minute passenger

(3) Navigator

Captain
Cabicrew

19. This consists of two lists of cities and aidicodes, match items in List — | with items in
the another and select the corr@eswer from codes given below :

4

(

20. Match Segmentation variables mentidna List — | with Typcal details mentioned in

List—1I List — Il
(Airport) (Code)
a. Aurangabad L. IXR
b. Bagdogra i. IXB
c. Ranchi iii. BHJ
d. Bhuj iv. IXU
Codes :
a b c d
a i Wi v
2) i v i
3 i v il [
4) iv i [ iii
List — 11, using the codes that follow :
List = |

(Segmentation Variable)

Benefits p

Readiness/stage
Attitude toward product

a F
b. User statuf
c
d

Codes :
a b C d
Q) iv i [ iii
2) i i v il
3) i i v il
@) i v il [
Paper-Ill

List—1I
(Typical Details)
Quality, service, economy, speed
Non-user, ex-usegular user, potential user
Enthusiastic, positive, indifferent, hostile
iv. Unaware, awainformed, interested, intending to buy
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www.examrace.com



16. 1996 W T=g 2137, IAEE Y 3T TE H UAH A o, Fefofad § & 69 gqem
HYRT TaR fomar o 2
(1) =R (ig) T (2) oo T
(3) uiferfaent wea (4) e T
17. STHHRI H GEhaT Hf GHRET FH F o0 TR & Wil & T Fared sig &q i
IIETFA TG § & 7 § 2 309 gleel H 3¥ TedoH, F0T (R 1T Yar fafyr o6 gt 3iie
ATt T TR IMHA € |
(1) IR fafme (2) femm
(3) wheTH (4) T T SO
18. U AgIH H T Hie Fefefad o @ e fore smferd gt & 2
(1) 3ifom 999 W T aret 3t (2) FHed
(3) TWI-FSwTE (AfaeR) (4) HeT T
19. F=fafEd 3 giedt § Y 3R TR e RU T E 1 &t — | A T A &l gt — 1l ¥
GAfeTT R gT A 19T 7T Fel T Tel TR B =97 A
Tt — | =t — | y {
(FaTEE) (FrerEe) 3 ‘
a. ITERE i STETH.IR, A
b. IEERT i, STETRIS. £ :
c. jii. TS [ /
d. 9= v, ST, \ J
FT !
a b o d
Q) i i v
@) i v i i
@) i v i
@ v i i i
20. i U T F & T FA gC G — | H U T arieor =X A6 g — 1 H f{e e fatre
TR & | gAfed HifT
-1 =t — I
(aiieRToT =¥) (faferee foramon)
a. o (SHiTHEE) i T[UTeR, Wa, sreiea,
b. STErTERA &)l (TR ®H) i, IN-STEral (A I9R), -3kl (T
C. AR =T ) jii. ST, GHRICH, ST, ITATgOl
d. SOR % ud Avghd (eglkgs iv. oFvw, W, gfed, ¥ @ aren, w9 #
" IS Uiew) | TR & el
T
a b o d
Q) iv i [ iii
@) i i v i
@) i i v i
@ i v i
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21. Which of the following National Park is regnized internationallyas “World Heritage
Site and International Biosphere Reserve” ?
(1) Great Smoky Mountains (2) Grand Canyon
(3) Yosemite (4) Yellowstone
22. This consists of two lists of hotels anceithlocations. Match items from one list with
items in other list :
List — | List—1I
(Hotel) (Destination / Location)
a. The Oberoi Rajvilas i.  Udaipur P
b. Taj Lake Palace ii. Jaipur J
c. Lalitha Mahal Palace iii. Bangalore {
d. The Lalit Ashok iv. Mysore f [
Codes :
a b o d
@ i v il
(2) i [ iv il
3) i i v
4) i v i i
23. The Chicago Convention was organized in the year
(1) 1948 (2) 1984
(3) 1894 (4) 1944
24. Which of the following divisions came under North Railway Zone ?
a. Delhi b.  Lucknow
c. Moradabad d. Jaipur
1) b,cé&d (2) c,d&b
(3) a,b&c 4) acé&d
25. Evaluating market segments include :
l. Analyzing segment size and growth
[I.  Considering company’s objectives and resources
[ll.  Examining segment structural attractiveness
IV. Consideringmarketaccessibility
From the above, which one tfe following is correct ?
(1) I, lland IV are corrdc (2) Il and IV are correct
(3) I, Iland lll are correct (4) lland IV are correct
26. The ‘hub-and-spoke’ concept promotdiciency of which industry ?
(1) Restaurants (2) Ceantal
(3) Airline (4) Accommodation
Paper-lli 10 JA-093-17
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21. Fr=fatad & § &9 9 TEE STE S “fave eRied wet i s siaved (5" & ®9 |
AT S TE E 2
(1) U TR A (2) i FHT
(3) EHEEe (4) Felt =H

22. Fr=fatEd 3t giedt § gieet 3] 3% = U T E | gt — | 9 &1 7T 78 B gl — || & gafed
et gu i few e et W T B

= — | = — I
(Ftee) (TeTea Torer)
a. 3l SR TeItaeTs i SR F
b. @ o Teid ji. SER /
C. AT Hoe deid jii. SR J -
d. & ciferet s iv. T ‘
FT
a b C d
@ i i v
@ Qi i v i
@ i i i v
4) i v il il
23. frfcifead # 9 g a9 o foreer T e o1 3T fomar T o1 2
(1) 1948 (2) 1984
(3) 1894 (4) 1944
24. fAffEd § 9 B ¥ Heol ST I &9 & Faiid o7 & ?
a. feoott b. TS
C. HIRER d AR
1) b,caid @) ¢ deirRb
(3) abs3Rc (4) a, c3ixd
25. SR Gl (ATohe TTHH) o Jodih | NTHeT &1 T ¢ :
|, @T % NHR 3R Gghg (Te) 1 faveioor H |
ll. O o 329l SR ST WY R e |

. WS P GEFTHS AHUHAT bl S BT |
V. ISR % Ugd W faar & |
I & Ged H Fefoiiad °§ 9 9 91 98t & ?

Q) ISV E (2) I3V TEIE |
() I3 E (4) Il ARV TEIE |
26. ‘B9-UUS-TE YN Efciad O 9 fhg SET bt &rHar i Uiede ol € ?
(1) T=R= (2) T RHR
(3) TITEHA (4) g
JA-093-17 11 Paper-IIl

www.examrace.com



27. This consists of two lists of Food OutletsdaDescriptors. Match items of List — | with
items in the another :

List — | List—1I
(Food Outlet) (Description)
a. Chokhi Dhani I.  Vegetarianestaurant chain offering South
Indian delicacies alongith other meals.
b. Saravana Bhavan ii. An ethriecdian Outlet offering Rajasthani
Food & Cultural experience to guests.
c. Bukhara iii. Indian Restaurant Chain with live grill

embedded on dinning table
d. Barbeque Nation iv. A speciality restaurant offering North-West{

Frontier Cuisine y,
Codes :
a b C d
@ i i v il
2) i i i v
3) i [ iv il
(@) i [ i v

28. MEDX is a visa granted to
(1) MedicalStudent
(2) Attendants/family members of patients for medical treatment
(3) Foreign nationals visitingndia for medical treatment
(4) Mountaineers

29. Semi high speed train that runs betweefhD& Agra, operates a& speed of 160 km/hr
and is also one of the fastest trains of India
(1) G.T. Express (2) Duranto Express
(3) Gatimaan Express (4) Chetak Express

30. Assertion (A) : Culture is the basic determinant @fconsumer’s wants and behaviour,
which compresses the values, petias, wants and behaviours that
the consumer learns continuously in a society.

Reason (R) : Marketers continuously identify cultdrahifts in orde to devise new
products and services that find a receptive market.

In the context of above two statements which one of the following is correct :

(1) Both (A) and (R) are true butY® not correct explanation of (A).

(2) Both (A) and (R) are true and)(R a correct explnation of (A).

(3) (A)is true but (R) is false.

(4) (A)isfalse but (R) is true.

31. National Tourism comprises of
(1) MICE Tourism
(2) Inbound and Outbound Tourism
(3) Domestic Tourism and Outbound Tourism
(4) Domestic Tourism and Inbound Tourism
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27. Tafefed 3 gfeat & @ usmEt % foh S SR fgeRor et § 1 g9 — | H S T w_E R
Tt — |1 o e gHeTd e gy A T T el H H HE IR B AIA

= — | = — I
(amer ugTe fasht ) (Ferarzom)
a. =@ g i, T S % WY WS SR IRAE S Sl IRER
TR et
b. @& W ji. SRR P TR S X Tl 3FIE T UPTeheT
T AT Teh WO TR fosh! &g
C. FEXI i, oS H A W SUREd oed et % e aRdg (R
el o
d. IRER] AvE iv. STUEH WhfeTR Fi @l UeRe A el U o,
TorT TR {
FT
a b C d
a i il v il
@) i i i v
3 i i iv i
@ i i i v 7
28. THE ST, o ffeiad § 9 5l vee far st € 2
(1) Tk s

(2) Tafpmr IUER & UM & g ST et IR/ aRaS 93
(3) Taferear STaR % fow wRa &t amm s oot faett A
(4) TERRE

29. feoodt 3fiT 3TRT & & 160 TFeATHIT Uiq 80 6t iq ¥ I aTell YRa ! dieldd T arelt et
o F g4 g T &l 3 FAfaiad A s @ g ?
(1) 3. v (2) T TRDE
(3) e TS (4) < TR

30. AUHYUA (A) : TEHA ST P SEAIIHAT TS 2deR &l ol R &, o0 o o7,
|
T (R) : fquUFeRd (AThed) U Sl R Fered wi FiHa #A % fou wiepias
TEATET Dl T B &, STl TR H STpeT ATk et & |
SR 31 AT & Hew °, FEfeiad § @ S 9 9el & ?
(1) (A) 3R (R) A T& & W (R), (A) Ff T& =0 Tl & |
(2) (A) 3R (R) I Tl € 3 (R), (A) it Tl A=A E |
B) (ATWERR)TEE |
(4) (A)TdE R(R)TIE |

31. U qdeT | I &

(1) UTHTRE S e (2) TAGESE 3R ITASE WA
(3) T WA AR IASE TdeA (4) =l YA 3R TEISE wded
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32. These are usually located on the coast ligh above sea level, such hotels offer
unobstructed views and a greahse of privacy without feelg of total isolation and are
popularly known as
(1) CIiff Hotels (2) Capsule Hotels
(3) ReferraHotels (4) Underwatdtotels

33. ‘Dil toh roaming hai’ is the tag linef which of the following company ?

(1) Reliance Jio (2) Make My Trip
(3) Yatra.com (4) TripAdvisor
34. In order to promote River Cruise Toumsin India following circuits on National
Waterway — 2 (River Brahmaputra) have been identified :
a.  GuwahatCircuit
b.  TezpurCircuit
c. NeamatCircuit
d. KolkataCircuit
(1) a,bandc (2) a,bandd
(3 b,candd (4) acandd
35. Match the items in List — | with those luist — 1l and identify the correct answer :
List—1 List — I
(Marketing Management (De%cri jtion)
Philosophies)
a. Production Concept i. The Philosoph)'/ _hQIds" that consumers will
fauq\ur products that are available and highly
fordable.
b. Product concept b « The Philosophglds that consumers prefer
J existing products and product forms and job
. of management is to develop good versions
of these products.
c. Selling concefzt . iii. The philosophy holds that achieving
\ ( organisational goals depends on determining
needs of the target markets and delivering
d the desired satisfaction more efficiently and
4 effectively than competitors.
d. Marketing“goncept iv. The Philosophy holds that consumers will
? ' not buy enough of the organisation’s
products unless the organization undertakes a
large selling and promotion effort.
Codes :
a b c d
a i i v
2) i v il
3 i i v [
@) i [ v
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32. I UEEAR W a9 W fed € Ak 995 TR 9 S8 W €, 39 UhR o giect S Hdid Tehehia
e FHATT T, aren Wed geal vay fasrar &1 qof A = & wad Sd €, Fefetad |
T 3¢ o6 Al 19 & ST ST € 2

(1) % glea (2) FFA gl
(3) IwA BleA (4) TSE Bl
33. ‘fect ot T &' T' & e fe=feifea § 9 fw st o & ?
(1) TremEg = (2) wwwE
(3) IEHW (4) feu TeAEsR

34, R F T F T FI RT3 F HH T, AL T2 (FEG ) W e § § i
Hfepat i fafed fpar € 2

a. TERE Ak
b. TSR Wi
c. Tramia afee
d.  SicTehrm afhe
(1) abs3Rc (2) a, b3rd
(3) b,card 4) a, ciRd
35. A — | H T AT A g — || H T AT W YA HIT T W ST AT
TR — | a@én
(o= yeierm 29) @=L
a. SR STEERT . m@qaﬂm%‘%mﬂwmaﬁ
ﬁqﬁaaﬁﬁﬁw%aﬁrmﬁwaﬁ%
b. IR TR €9 I BT AT & T ST Teiferd Seatet el
Vi IR W H A & R e O
SCUTET o 3T WEhIUT Teh{ad T & |

c. fosha sregrom < " i, W I F AEAE 6 S % e bl i
{ ( AT aSIRT W STEvEhaTell % R @R
At (i) Ht qoT | 314 HIerdr ud

T TTETCIIEhdT § Fifsd dqie WX R T |
d. foqom smedmon iv. IO S I AFEAT € (o ST O d S &
4N AT ! GAT &Y 9 T Tél BT, S d [
f ' g WA I8 W W ok X ‘Uuiee war
TEl AT |
%
a b C d
@ i i i v
@) i Qi v i
@) @i i v
@ i i i v
JA-093-17 15 Paper-Ill

www.examrace.com



36.

37.

38.

39.

40.

Transient Occupancy Tax (TOT) levied by farge cities is otherwise known as
(1) Food tax (2) Bed tax
(3) Entertainmentax (4) Leisurdax

Haldia Sea Port (KDS & HDC) is located in one of the following States :
(1) WestBengal (2) Odisha
(3) Maharashtra (4) Gujarat

Read the following statements and choose the correct answer from the codes given below :

Assertion (A) : Destination, Industry and Governmeall, have an impact on the extent
to which tourism promotes broader socio-economic goals.

Reason (R) : No single industry such as tourism can have the responsibility for
overall development and that it canymplay a smaller role in a larger
development scheme.

Codes:

(1) (A)is true but (R) is false.

(2) (A)isfalse but (R) is true.

(3) Both (A) and (R) are true but (R)not the correctelanation of (A).
(4) Both (A) and (R) are true and)(R the correct explanation of (A).

This consists of two lists of names of ssahnd permissible inferential statistics. Match
items in one List — | with iteas in the other and choosesthorrect answer from given
codes :

List — 1 ListsI (
(Name of Scale) (Name oqufegéntial Statistics)
a. Nominal i Cor(eiatl"on
b. Ordinal li. Regression
c. Interval iii.. Coefficient of variation
d. Ratio “jv.' Binomial Test
Codes :

a b C d
Q) i i v [

2) iv i i
3) i it v [
4) i i i iv

Reports and forecasts of the economic and employment impact of Travel and Tourism
prepared by World Travel and Tourism Council for

(1) 198 countries 22 geographic regions.
(2) 184 countries 25 geographic regions.
(3) 197 countries 15 geographic regions.
(4) 164 countries 10 geographic regions.
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36.

37.

38.

39.

40.

T I GRT fIU ST el STl Siget Y (AU iUt S (21 31 @) B fferfiaa o @
fohg 37 19 @ ST S € 2

(1) TR (2) =R

() TARSH #X (4) glam F=

Ehegar TSt SETE (F.81.09. U Ta.edr,) Fefaiad § 9 g 759 8 fed § 2
(1) ufv=m et (2) afeem
(3) wenL (4) TR

fefefad et i ufgy 3] e 5 TC el § F el SR BN 94 iy

Afpe (A) ¢ TiAed, SEIT 3R TR Ol U9 % 39 [aaR W 09 St € STEE e
AT FTATTT- ST &2t i Tede 3o ¢ |

& (R) ;g off T S e 9ay faea S SRR Fél o wehar 1Y JE U S
ferera ST | 1% U B1et et Fm Teher & |

W:

(1) (A) T & A (R) T € |

(2) (A) T &, TR (R) W&l € |

(3) =M (A) 3R (R) W& €, Ak (R), (A) 1 W&l A= 161 € |

(4) =F(A) 3R (R) T & 3l (R), (A) 3 T8 e & |

fefefad <1 gfeat & A1 (@het) 31X T SAHIS Hifeeh! & 99 iHe € | gar — | § S
TS H=1 o el — || % A1 GAferd s gu A ¥ M0 i | I T ST B aGqT R

T - | SCieg T
(VT T ) (amﬁh;gfrﬁmaﬁaaram)
a. AHEAR i,  wEdeml
b. HEga® ii. ufqae
C. 3Tt ii.  Tergrer 1 Ut
d. ot iy, o e
FT ! |

(=N

a b C d
@ i i v
@) v i i i
@) i i v
@ i i i v
farea amm R wEen uReg & gRT AT 3 932 & SN SR ISR T9d b [aiet 31 e um
& F=feiad 5 | fohae fote dar foar i e 2
(1) 1983 3R 22 -HTifctsh &
(2) 18433 AR 25 - Hfimiereh &
(3) 19733 AR 15 - Hfimiereh &
(4) 16433 AR 10 - Himierss &
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41. According to contingency approach to leathgp, the focus is on the following factors :
A. Taskrequirements
B. Employeestharacteristis, expectation and behaviour
C. Leader's position power
D. Organizational culture and policies
In the context of above, which one of the following is correct :
(1) Aand C are correct (2) B, CandD are correct
(3) A, Cand D are correct (4) A, BandD are correct
42. Match List — A with List — B and select the correct answer from the codes given below the
lists :
List— A List—B s
(Cities) (Popular Name) {1
a. Siliguri i. City of joy f [
b. Kolkata ii. Gateway to the doors
c. Bhubaneshwar iii. Healthcare Capital of India
d. Chennai iv. Temple city [
Codes :
a b c d
Q) i [ v il
(2) i i [ iV
3) iv i i i
4) i i v
43. An expression in sampling theory for the slamd deviation as a pmentage of mean is
called as
(1) \Variance (2) Interquartileange
(3) Coefficient of variation (4) Kurtosis
44. Assertion (A) : Extraction of most renewable resoes cannot be maained over long
term if limits are not placed on theitilization leading to an interest in
sustained yields.
Reason (R) : It is not often necessary to plateits on production yields to allow
time for the resource base to sufficiently regenerate.
Codes:
(1) Both (A) and (R) are true, (B the correct explanation of (A).
(2) Both (A) and (R) are true, but (R)not the correctelanation of (A).
(3) (A)istrue, but (R) is false.
(4) (A)is false, but (R) is true.
45. Consider the following :
l. Policies II. Objectives
[ll.  Programmes IV. Procedures
The correct sequence of these adats in the planning process is
@ LV (2 Lv,
3) 1, L1v, 4 mnmv
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41. 9T & TN H IMHH IUMH (Hi=~idl THE) & IR Ffciad SR (haed) W &
il fohal STHT @
A.  FH Gel TEvasHad B. SHUTINE! o foRoam, 3T9eT 3fi¥ sHaer
C. a1 % Ug &l ik D. WieATHS GG X Aife
ST & Hey 1 fferfad & & o a1 W@ § ?
(1) ASRCEE | (2) B,C3IARDTEE |
(3) A CIRDTEE | (4) A BIRDWEE |
42. gt — A g — B%wgﬁﬁaﬁﬁmﬁrqﬁﬁﬁqw@wmaﬂﬁ@aﬁwaﬁqﬁm
et - A et - B .
(31%?) (Fﬁa?&rdqw) {
a. foeimer i qiwE # I L
b. e ii. IAH R (T < T )
C. aweR il Waﬁwé@mammﬁ(%wwaﬁwmﬁm)
d. == iv. TR T IR
B
a b C d
@ i i v i
(2) i ii i v
@) v i i i
4) i il il v
43. UF AT &% YR & dR W HAHSE [oaei & [T UqeeH MEEid W U SUF IsTeel i el
ST &
(1) R (@ERT)
(2) TFREEA &
(3)  Tereret =1 TUTieh (SIUfERIEE 3tk afae)
(4) e
44, Ffamaa (A) ;AT STRTT TQAT S GUHAT S @l STETY T S W@ T@T ST Tl
g Ik SUANT W UHEE qF Tel Ht TS, 39 four 7 gad SRl & fod |
3R HeR FE |
& (R) . g YASTAR % ol TQIE SMER & TH & WP 3+ & ol I8 T:
T Fel & T Seae UgTaRy st o 7 i S |
%
(1) A (A) 3R (R) T €, 3T (R), (A) W&l AR E |
(2) 3F(A) 3R (R) W&, b (R), (A) I el = T € |
(3) (A) T & ifh (R) Toid € |
(@) (AR g, o] (R) W & |
45, FEfREd W faer it
| it . =
. wrEHd V. wishamd (onfasT)
TSt Ufshan 3 il o1 Wel S &
@ 1LV ) 11,1V, 10
@) L1V, @ 1,000,V
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46. Match List — I with List — Il and set¢ answer from the codes given below :

List—1I List — Il
(Heritage Site) (Location)
a. Pari Mahal i. Ajmer
b. Ibadat Khana ii. Srinagar
c. Dilwaratemples lii. Fatehpur Sikri
d. Anasagar and Anasagar Palace iv. Mt. Abu
Codes :
a b c d
Q) i i v [
2) i v
) i v i [
4) iv i i [

47. This consists of two lists of nhames afake and the permissible descriptive statistics.
Match items in one list wititems in the other and choose tborrect answer from given

codes :

List—1I List — I i s (
(Name of Scale) (Name of Descriptive Statistics)
a. Nominal i. Geometric mean __f"

b. Ordinal i. Standard Deviation .
c. Interval ili. Median | f
d. Ratio iv. Mode Iﬁ J
Codes :

a b C d
@ i i i v
(2) i [ v i
3) i v i [

4) iv i i [

48. Lue and Crompton developed five differespatial configurations in 1992. Find the
correct combinations of them in sequence from the following :
(1) Single destinations, En Route,d8a8Camp, Regional tour, Trip chaining
(2) Trip chaining, En Route, Singestinations, Regional tour, Base camp
(3) Regional tour, trip chaining, EroRte, Base camp, Single Destinations
(4) En Route, Base camp, Regional t&ingle Destinations, Trip chaining

49. Assertion (A) : According to Fiedler Model of leadship, a manager who is disliked
may be less able to lead informallydawould have to rely on directives
to accomplish group tasks.

Reason (R) : The quality of leader-member relationship is the most important
influence on the managep®wer and effectiveness.

In the context of the above two statementisich one of the following is correct ?

(1) Both (A) and (R) are true, but (R)not the correctglanation of (A).

(2) Both (A) and (R) are true ariR) is the correct explanation (A).

(3) (A)is false, but (R) is true.

(4) (A)is true, but (R) is false.
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46.

47.

48.

49.

A — | B GE — || % G GAET HINTT SR A T T e BT TET A gT Tal 3T B
L

=it — | =it - I
(Ferara werer) sraferfd (@)
W TEA i. SR
ESIEGREIEI ii. SR
feeTargt T iii.  HOEYX TR
NIRRT 3FENR Tt iv. TR g

apop

FT
a b C d
@ i i v
@) i i v i
@3) i v i
4) v i ii [
fefefad 3t gieai & 719 (Whet) 3R T U Q! & A8 IHe € | gor — | § 3
ﬂ%ﬂﬁaﬁﬂfﬁ—ll%wgﬁ%ﬁaﬁaﬁrqﬁﬁﬁqﬂqﬁﬁ@aﬁwwwa&
= - | = — I 4
(VT T AT ) (avhma»‘wﬁg:ﬁaw;rm l'
a. A i, SETHIqe AT ]
b. HUgTH i, A faee / J
C. 3T jii. TR [ /
d. o iv. g L&"
FT
a b C d
@ i Qi i v
@) i i v i
@) i v i
(4) v i il [
T 3R B F 1992 F Ure =T wnier Wieafa fashiad s | ST 59 § el TS o7 § 2
(1) Ueet TidqeA, "I H, SR (39) Fifer, g 3w, swor sjiger
(2) YT G, AN H, Ushet Tided, &5 AT, 3MER (39) e
(3)  &HIT AT, YHOT ST, AN H, SMUR (39) ey, Thet Taeq
(4) WU H, ER (@) iR, S A, T e, WHuT e
A (A) A9 & 9N | HEeR Higd & AR 9 Yeiysh Sl A0HS {61 ST €, 98
SN € ¥ Aged B H Y F&TH & Thal § 3T 3T THE & HAr Bl
TR FH % foqw FSen o8 FiR & ue |
& (R) . ORI Y (Glied-Her. ReleMiem) & TurEsn Weys &t vfed 3
TTEICTG el ST T HewegoT T Biell & |
ST 31 AT o A o, fefeiad § F i | w8t € 2
(1) (A) 3R (R) q W&l 5, W (R), (A) F Tl AR T ¢ |
(2) (A) 3R (R) A T € 3R (R), (A) F Tel A= E |
() (A)TEE R(R)TWIE |
(4) (A)TWER(R)TETE |

-
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50. Assertion (A) : Tossing of a coin results in tvautcomes Head (H) and Tail (T).
Reason (R) : Tossing of a coin is an example of random experiment.

In the context of above statements, which one of the following is correct ?
(1) Both (A) and (R) are correct.

(2) (A)is correct but (R) is incorrect.

(3) (A)isin correct but (R) is correct.

(4) Both (A) and (R) are incorrect.

51. Philip L. Pearce developed Travel motivatiadder, find the correct sequential order of
needs in the ladder (lower higher) from the following :

(1) Fulfilment — Stimulation - Self-Esteem and Development Relationship—

Relaxation

(2) Relaxation— Stimulation — Relationship— Self-Esteem and Developmens
Fulfilment ,

(3) Stimulation— Relaxation— Relationship— Self-Esteem and Development
Fulfilment

(4) Relationship— Relaxation — Stimulation — Fulfilment — Self-Esteem and
Development

52. Consider the following steps in zero-base budgeting :
l. Analysis of each decision unit ihe context of total decision package.
[I.  Identification of decision units.
[ll. Allocation of resources to each unit based on ranking.
V. Evaluation and ranking of all deaisi units to develop the budget request.
The correct sequence of these steps is
@ LI () 1,11, 1v, 1
3) 1, L1v, 1 4) v, 1,

53. Maitch the strategies on operations in List —thvtheir implications in List — Il and select
the correct match using the codes given below the lists :

List'— I List—1I
a.  Low costiprovider i. Requires longer production runs
b. Greater sepvice provider ii. Recgs higher inventory investment
c. New product introducer iii. Has higher R & D costs
d. _Lay off minimiser iv. Develops employee loyalty
Codes :
a b o d
a i i v
(2) i i v [
3) i v [ i
4) iv i i i
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50.

51.

52.

53.

AU (A) T b B I & oI SBTer WS aRome g § - 8% (TE) i e @) |
& (R) ;U Tk i 2 & ToTT BT Ueh ATGreseh T ol S8 € |

UG AT & Ged | ffefad § | S °@ Qe ¥ ?

(1) =H(A) 3R (R)TEE |

(2) (AT & AT (R) T € |

(3) (A) o & AfepT (R) W& € |

(4) 3H(A) 3R (R)Tod € |

ToletT wet, W = amn ARTRoT Fiae it fosiad fFar, @ 8 (9 @ ST) SNavashdl & T
HH T TIT B

(1) oI — RSP — WA SR [T — Tae — fasmy

(2) fasm — WP — Ty — W 31 [T — ot

(3) W — faum — T — WINHH R fog — qorar

(4) T — a9 — W — YT — TEE R fohrg

RIS ST B FAfarad el W faar S

|, o1 ot & G5 | wedsh T gehre ot fawetsor

Il. T/ gehreal ! v

Il o & 3TMER T T ST i HATEAT M STee

IV. S 3Tes i foehiad w3 & faw qult fora gereal &1 geais i ST
@ 1,0,V @ 1,1V, |

@) I, 1V, 1 @ 1LV,

e — | H U M0 AR () W IO B gEt — || H K T 37 STt (Sreiishsid) &
1 G BT 3R] = f§T 1T e 1 T S g el Goe g ;
a1 o - Tt — I
a. I o pErer (@ B i Ak o GH a9 ScIE SeNas € |
erEey) |
b. Fe® T U (YR WAG i, SR A O ATEE € |

c. Torwrawrgr ' iii. 3. TS . H SAH AN A ¢ |

d. -3iw fafmresr iv. AR e foehtad B ¢ |

@ i i i v
@ i i v i
@) Qi v i i
@ v i i i
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54. Consider the following statements :

An experiment is known to be randaiinthe results of the experiment can be
predicted.

Standard error is the si@ard deviation of a statistic.
Poisson distribution may be multi-model.

IV. A theoretical probability distbution does not exist in real life.
In the context of above statementhich of the following are correct ?
Q) tlandli (2) llandll
(3) Illand IV (4) IandIV
55. Romantic ecology is a term developed byrg¥er in 1977 to describe the reinforcement
of the perception of
(1) Natureandwildernesshaving spiritual values
(2) Culture and nature having emotional spirit
(3) Forest and wildlife hamg complimentary relationship
(4) Ecology and environment having integral relations.
56. Match the types of validity imist — | with their descriptio in List — Il and select the
correct match using the codes given below the lists :
List — 1 f List — I
(Type of Validity) (Desir' tion)
a. Content validity i. The extent the test ipqludés all tasks / questions
repiesentative of g@ible job assignment.
b. Construct validity . T extent to ‘which the test measures
“psychological quality which it is supposed to
! Imeasure.
c. Concurrent validity iii. The extent to which the test score determines
the future job behaviour.
d. Predictive vaIﬂ?ity #. iv. The extent there is a positive correlation
{ between job performarcand test scores.
Codes :
a b o d
a i i v
2) i v
3) i [ iv il
4) i v il
57. When the correlation coefficient r+=1, then the regression lines ?
(1) Are perpendicular to each other
(2) Are parallel to each other
(3) Coincide
(4) Do not exist
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54, FHfREd HoHl T o I
|. T VAN I ATGrese AT ST Tohal € TG JAIT o UROTHT T JaiqHH oimaT ST gehel € |
Il. A e T TifeTsht 1 A fode € |
Il e feR e U Heel-Hieel & Tl § |
IV. U dgifaes Gareg foaror ardfos Sied o Sifadca Fal 3@ € |
UG AT & G H, frfefad | o @ 92 g ?
(1) 1R (2) ISR
(3) 3RV (4) 1l ARV
55. 1977 % aREX 5N foshiad wesmae AHiesh TRifden fam Fefafad § 9 69 staaren =
Tt ST 0 Il & ?
(1) menfers godi & @1 Ui 31X o=
(2) TATTCHS TEAT o W1 HEH(T SR TPl
(3) e Hey % WY I 3R =St
(4) TUHFA Tey & QY ARIEfe famm i) gatero
56. Il — | < TS AAT % BRI B gl — || H T T 396 FuiT % Ay GATd Hifww X T 5w
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58.

“Making Tourism more sustainable : Guifibe Policy Makers” has been published by the
following internationabrganizations in 2005 :

(1) PATA and UNDP (2) UNESCO and WTTC
(3) UNEP and UNDP (4) UNWTO and UNEP
59. The perspective is significant mainlgdause of the emergence of knowledge economy
which requires highly skille knowledge workers is
(1) Resource Based Perspeetiv. (2) InvestmenPerspective
(3) Best Practice Perspective (4) Best-fit Perspective

60. Consider the following two statements :

Assertion (A) : Payment of dividends on preferergapital is not legally binding upon a
firm.

Reason (R) : Failure to pay dividends on prefemencapital does natamage firm’s
credit standing.

In the context of above statements, which one of the following is correct ?

(1) Both the statements are correct.

(2) Both the statements are incorrect. )

(3) Assertion (A) is corrediut Reason (R) is incorrect.

(4) Both the Statements are correct Raétason (R) is not the correct explanation of

Assertion (A).

61. Assertion (A) : An ordinal scale allows to deternaeinvhether an object has more or less
of a characteristic than some attabject, but not how much more or
less.

Reasoning (R) : An ordinal scale indicates absolytesition and the magnitude of the
differences between the objects.

(1) Both (A) and (R) are true, (B the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctlanation of (A).

(3) (A)is true but (R) is false.

(4) (A)isfalse but (R) is true.

62. Seven NGOs issued a declaration for so@eginomic and climate justice in tourism in
2011 in conjunction with the global climateasige conference in Durban, South Africa.
The Declaration igntitled as
(1) Limits to Durban (2) Last call to Durban
(3) Clarion call to Durban (4) Summit level call to Durban

63. Choose the correct statements from the following :

l. Financial statements only considessets and liabilities expressed in monetary
terms.

[I.  Dividends are paid as percentage of net profits.

[ll. Creditors are included in the current assets of an organization.

IV. Prices of long-term bonds are more sewsithan the prices adhort term bonds to
the changes in the market rates of interest.

(1) Bothlandll (2) Bothlland lll

(3) Bothllland IV (4) BothlandIV
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64. A statistical test for a variable measuredaonordinal scale, comparing the difference in
the location of two populations based on obatons from two independent samples is
called as
(1) Kolmogorov — Smirnov (K — S) one-sample test
(2) Man — Whitney U Test
(3) WilcoxonMatchegpairs signed-ranks test)

(4) Cramersv

65. Arkbeits Kreis Tourisms and Entwicklung KAE) on NGO concerned with human rights
issues in Tourism is located in
(1) Bangkok (2) Unite&ingdom
(3) Switzerland (4) Australia

66. Two parts are given below. In Part — | naofdhe monuments are given and in Part — |l
heritage sites are indicated.l&# the heritage site whetlee monuments are situated :

Part — | Part — Il

(Monuments) (Heritage Sites) :
a. Dilawar Khan’'s Tomb i. Srinagar 5 (
b. Baz Bahadur's Palace ii. Mewar ¢ P
c. Rupwati’'s Pavilion iii. Bijapur F_.f
d. Jahaz Mahal iv. Mandu/ ]
(1) Srinagar (2) Mewar
(3) Bijapur (4) Mandu

67. Which amongst the following constitute thecial responsibilities dfusiness ? Use codes
given below :
l. A fair and adequate raté return on investor’s capital.
[I.  Fair remuneration to employemsreturn of wages and salaries.
[ll.  Supplying goods of right quality to consumers
IV. Maintain healthy competition towards competitors

Codes :
(L L 2 1,10, 1v
3 LI,V 4 um

From the following information pertaining towentory of a company, choose the most
appropriate answer for questiodito 70 :

‘Date Pa:}'culars Units Rate R)
1-3-2016 Opening inventory 100 1.75
5-3-2016 Purchased 150 1.50
12-3-2046 Purchased 300 1.60
8-3-2016  Issued 200 -
18-3-2016  Issued 250 -
68. What is the value of clasy inventory using LIFO method ?
(1) 170 (2) 160
(3) T 150 (4) %180
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(1) %170 (2) %160
(3) %150 (4) %180
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69. What is the value of closing inntory using weighted average method ?

(1) %155 (2) %160
(3) %175 (4) %185
70. What is the value of issues using FIFO method ?
Q) 770 (2) %850
(3) %580 (4) %720

Read the following passage carefully and answer the question3 frmn75 :

Situated in Karimganj district, Son Beeltie largest seasonal Wetland in the Northeast
India and the second-largest in Asia. With hiis its east and west, and the Shingla river
running through the middle, the wetland is a de@ for photographerso8 Beel’s distinctive
landscape is formed by the Hizok#s, the Barringtonia acutangulahich thrive even when
they are half submerged in water. In the dry winter months, Son Beel becomes a functional
farmland and in the monsoon (march onwards)|ahd fills with water to become a lake. When
there is too much rain, it overflows and #wecess water is channelled through the Kakra and
Kushira rivers into Bangladesh.

The Namdapha National Park, covering an are2,@d0 sg.km, is among the last great remote
wilderness areas in Asia. It is situatedtie beautiful valley of th Noa-Dihing river and
extends into the Myanmar teoty. The area lies close to thedb-Myanmar-China tri-junction.
Forests are contiguous across ititernational boundary with Myamar, with several adjoining
protected areas, including thecently declared Hukawng VajleTiger Reserve. Its unique
geographic location and habitat, ranging frommwaropical plains tacy Himalayan highlands,

is what makes Namdapha home to species aral tibitures that cannde found anywhere in
the world. Son Beel is also famous for its freshwater fishes.

71. Son Beel seasonal wetland which is teeond-largest in Asia is situated in

(1) Nagaland (2) Mizoram
(3) Assam (4) Manipur
72. Name the river which runs through the middle of the Son Beel Wetland ?
(1) Kushira (2) Shingla
(3) Brahmputra (4) Kakra
73. Name the fish which is coikered as a speciality dish
(1) Tunafish (2) Bhujia fish
(3) Rohu fish (4) Jhinga fish
74. Namdapha National Park is famous for
(1) White Elephant (2) Leopard and Tiger
(3) Wildass (4) Rhinoceros
75. N'amdapha National Park is situated in
(1) Assam (2) Sikkim
(3) ArunachaPradesh (4) Tripura
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69. A ST TGTq T SUANT X U ARG H H THIT HeA-Gel 6 G 1 8 2

(1) %155 (2) T 160

(3) 175 (4) %185
70. FIFOTSIT T ST d gU FHial 1 Jod 1 € ?

(1) 2770 (2) %850

(3) %580 (4) %720
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